CONT. ALUM.
RECESSED
FRAME (J7A010-F)

HEX HEAD CONC. [2823:1‘;]
SCREW (7 PER CONT. ALUM. HALF
FRAME @ 18 PLATE (J7C060)
[457mm] O.C.)
(JK173) SOUND DAMPENING
HIGH STRENGTH SEAL (J7D001) C
EPOXY GROUT
(BY OTHERS)
| |
1" \ \ (>
25 N %
e = %
1 /
\ /
\, /
N
6" 4"
[152mm] [102mm]
MIN. BLOCKOUT
787-A02-100
MOVEMENT #
JOINT WIDTH HORIZONTAL | VERTICAL
UsS mm UsS mm UsS mm
FINISH: MILL 4" 1 02 1 " 25 1 " 25

~— 3/8"x 1 1/4" [M10x32]
FLAT HEAD DROPIN
ANCHOR (6 PER
FRAME @ 18" [457mm]
0.C.) (JK214)

™~— SILICONE SEALANT
(BY OTHERS)

— HINGED WALL PLATE
ANCHORED (J4C034)

~— TERMINATION BAR W/
1/4" x 1 1/4" [M6x32] HEX
HEAD CONC. SCREW
(JK125F/180)

OPTIONAL REINF. EPDM
VAPOR BARRIER
(JLO24-RVB) NOTE: SET
IN CONT. BED OF
BUTYL SEALANT (BY
OTHERS)TERMINATE
RVB AT OUTSIDE
EDGES OF SYSTEM

PROJECT:

CUSTOMER:

LOCATION:

APPLICATION-

FLOOR TO WALL FLOOR
PARKING STRUCTURE

DATE: 4-29-24

SCALE: 1:2

DOCCADJM.042/R11

Inpro.

For More Information Visit: Inprocorp.com




SOUND DAMPENING SEAL

(J7D001)
CONT. ALUM. HALF PLATE , 11 1/4"
(J7C061) \ [286mm]
CONT. ALUM. RECESSED | 3/8" x 1 1/4" [M10x32] FLAT HEAD
FRAME (J7A011) DROPIN ANCHOR (6 PER FRAME
| @ 18" [457mm] O.C.) (JK214)
N — ~——— HINGED WALL PLATE ANCHORED
/' e O (J4C034)
1 j ™~ SILICONE SEALANT (BY OTHERS)
[25mm] /
HIGH STRENGTH EPOXY 7 ~~— TERMINATION BAR W/ 1/4" x 1 1/4"
GROUT (BY OTHERS) \, [M6x32] HEX HEAD CONC. SCREW
N (JK125F/180)
HEX HEAD CONC. s
SCREW (7 PER FRAME @
18" [457mm] O.C.) (JK173)
6 1/2" OPTIONAL REINF. EPDM VAPOR BARRIER
[165mm] (JL024-RVB) NOTE: SET IN CONT. BED OF
MIN. BLOCKOUT BUTYL SEALANT (BY OTHERS)TERMINATE
RVB AT OUTSIDE EDGES OF SYSTEM
+
JOINT WIDTH MOVEMENT +
HORIZONTAL | VERTICAL
Us mm Us mm VS mm
FINISH: MILL 6" 152 1 1/2" 38 1 1/2" 38
PROJECT: DATE: 4-29-24 ‘
APPLICATION-
CUSTOMER: FLOOR TO WALL SCALE: 1:4 lnp ro
®

LOCATION:

PARKING STRUCTURE

DOCCADJM.042/R11

For More Information Visit: Inprocorp.com




SOUND DAMPENING SEAL
(J7D001) \
CONT. ALUM. HALF PLATE |
(J7C062) \

CONT. ALUM. RECESSED

FRAME (J7A011)

¢

13 1/4"

[336mm]

1"
[25mm]

HIGH STRENGTH EPOXY /
GROUT (BY OTHERS)

HEX HEAD CONC. /
SCREW (7 PER FRAME @
18" [457mm] O.C.) (JK173)

N ——

3/8" x 1 1/4" [M10x32]
FLAT HEAD DROPIN
ANCHOR (6 PER FRAME
@ 18" [457mm] O.C.)
(JK214)

HINGED WALL PLATE
ANCHORED (J4C034)

SILICONE SEALANT
(BY OTHERS)

TERMINATION BAR W/ 1/4" x 1 1/4"
[M6x32] HEX HEAD CONC. SCREW
(JK125F/180)

OPTIONAL REINF. EPDM VAPOR
BARRIER (JLO30-RVB) NOTE: SET
IN CONT. BED OF BUTYL

61/2" 8"
SEALANT (BY
[165mm] [203mm] OTHERS)TERMINATE RVB AT
MIN. BLOCKOUT OUTSIDE EDGES OF SYSTEM
787-A02-200
MOVEMENT #+
JOINT WIDTH HORIZONTAL | VERTICAL
US | mm | US | mm | US | mm
FINISH: MILL 8" 203 2" 51 2" 51
PROJECT: DATE: 4-29-24 ‘
APPLICATION-
CUSTOMER: FLOOR TO WALL SCALE: 1:4 lnp ro@

LOCATION:

PARKING STRUCTURE

DOCCADJM.042/R11

For More Information Visit: Inprocorp.com




SOUND DAMPENING
SEAL (J7D001)

CONT. ALUM. HALF
PLATE (J7C064)

CONT. ALUM. 1581’4" |
RECESSED FRAME [438mm]
(J7TA012-F) P 3/8" x 1 1/4" [M10x32] FLAT
HEAD DROPIN ANCHOR (6
| PER FRAME @ 18" [457mm]
0.C.) (JK214)
1" J / ~_ HINGED WALL PLATE
[25mm] \ ANCHORED (J4C034)
/ SILICONE SEALANT
HIGH STRENGTH /. '-\ (BY OTHERS)
EPOXY GROUT \ \
(BY OTHERS) ‘\\ TERMINATION BAR W/ 1/4"
HEX HEAD CONC. e N é,jl/é‘ g\ég‘s\i} HEX HEAD
SCREW (7 PER N (JK125F/180)
FRAME @ 18" et
[457mm] O.C.) 8 1/2" 10"
(JK173) [216mm] [253mm] OPTIONAL REINF. EPDM
MIN. BLOCKOUT VAPOR BARRIER
(JL036-RVB) NOTE: SET IN
CONT. BED OF BUTYL
SEALANT (BY
787-A02-250 OTHERS)TERMINATE RVB
N OVEMENT AT OUTSIDE EDGES OF
+ SYSTEM
JOINT WIDTH
HORIZONTAL | VERTICAL
UsS mm UsS mm UsS mm
FINISH: MILL 10" 254 [ 21/2"| 64 [21/2"| 64
PROJECT: DATE: 4-29-24 [ ]
APPLICATION-
CUSTOMER: FLOOR TO WALL SCALE: 1:4 ln ro
PARKING STRUCTURE ®
LOCATION: DOCCADJIM.042/R11 For More Information Visit: Inprocorp.com




CONT. ALUM. HALF PLATE
(J7C066)
SOUND DAMPENING SEAL
(J7D001)

CONT. ALUM. RECESSED
FRAME (J7A012-F)

HEX HEAD CONC. SCREW
(7 PER FRAME @ 18"
[457mm] O.C.) (JK173)

HIGH STRENGTH EPOXY
GROUT (BY OTHERS)

19 1/4"

[489mm]

. ]

[25mm]

FINISH: MILL

81/2"
[216mm]
MIN. BLOCKOUT

.. et
i m

12"

[305mm]

7/87-A02-300

JOINT WIDTH

MOVEMENT +
HORIZONTAL | VERTICAL

us

mm us mm UsS mm

12"

305 3" 76 3" 76

AR

3/8" x 1 1/4" [M10x32] FLAT
HEAD DROPIN ANCHOR (6
PER FRAME @ 18" [457mm]
0.C.) (JK214)

HINGED WALL PLATE
ANCHORED (J4C034)

SILICONE SEALANT
(BY OTHERS)

TERMINATION BAR W/ 1/4"
x 1 1/4" [M6x32] HEX HEAD
CONC. SCREW
(JK125F/180)

OPTIONAL REINF. EPDM
VAPOR BARRIER
(JLO36-RVB) NOTE: SET IN
CONT. BED OF BUTYL
SEALANT (BY
OTHERS)TERMINATE RVB
AT OUTSIDE EDGES OF
SYSTEM

PROJECT:

CUSTOMER:

LOCATION:

APPLICATION-
FLOOR TO WALL
PARKING STRUCTURE

DATE: 4-29-24

SCALE: 1:4

DOCCADJM.042/R11

Inpro.

For More Information Visit: Inprocorp.com




	787-A02-100.pdf
	Sheets and Views
	Model


	787-A02-150.pdf
	Sheets and Views
	Model


	787-A02-200.pdf
	Sheets and Views
	Model


	787-A02-250.pdf
	Sheets and Views
	Model


	787-A02-300.pdf
	Sheets and Views
	Model



